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(a) (v77) (b) () (¢) (%)
(d) (7) (e) (1)
( She loved ) ( music ) ( and )
( was ) ( a ) very )
( good ) ( piano ) ( player )
MOTFHE L v 2 5% B X 2 F CRADEERFE LD 5 1, )
( took ) ( him ) ( to see ) ( many )
( doctors, ) ( but ) ( no one ) ( knew )
( what ) ( the problem ) ¢ was )
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When I was young, I would climb the tall trees in my neighborhood after
school. I loved the view from the top. I soon became an expert at climbing
every kind of treel (1)
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(1)

C2H5OH — C2H4 + HzO

(2)

3C2H2 — C6H6

(3)

C&Cg + ZHzo — C2H2 +Ca (OH) 9

(4)

C2H4 + BI‘z — CHzBI'CHzBI'

(5)

CH4+ Cl, — CH5Cl + HCI
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